

GENERALIZED VON NEUMANN–JORDAN CONSTANT $C_{NJ}^{(p)}(X)$ FOR THE REGULAR OCTAGON SPACE

CHANGSEN YANG AND TIANYU WANG

(Communicated by S. Varošanec)

Abstract. In this paper, we study the exact values of the generalized von Neumann-Jordan constant $C_{NJ}^{(p)}(X)$ for X being the regular octagon space. We give that $C_{NJ}^{(p)}(X) = 1 + (\sqrt{2} - 1)^p$ is valid for $p \geq 2$, and $C_{NJ}^{(p)}(X) = 2^{2-p}[1 + (\sqrt{2} - 1)^{\frac{p}{p-1}}]^{p-1}$ for $1 < p \leq 2$.

1. Introduction

In order to study the geometric structure of a Banach space, geometric constants play an important role. In many geometric constants, the von Neuman-Jordan constant $C_{NJ}(X)$ is widely treated. In [1], as a generalization of the von Neuman-Jordan constant, a new geometric constant called the generalized von Neumann-Jordan constant $C_{NJ}^{(p)}(X)$ was introduced. The authors proved that the $C_{NJ}^{(p)}(X)$ was strongly connected with geometric structure, such as uniformly non-square, uniformly normal structure. Hence it's necessary to compute the $C_{NJ}^{(p)}(X)$ for some concrete spaces.

Throughout this paper, let $X = (X, \|\cdot\|)$ be a real Banach spaces. We will use B_X , S_X and $ex(B_X)$ to denote unit ball, unit sphere of X and the set of extreme points of B_X , respectively.

Recall that the von Neumann-Jordan constant $C_{NJ}(X)$ of a Banach space X was introduced by Clarkson [2], as the smallest constant C for which,

$$\frac{1}{C} \leq \frac{\|x+y\|^2 + \|x-y\|^2}{2(\|x\|^2 + \|y\|^2)} \leq C,$$

holds for all $x, y \in X$.

The properties of $C_{NJ}(X)$ have been investigated in many papers (see for instances [3]–[11]).

Recently, a generalized form of this constant was introduced as following

Mathematics subject classification (2010): 46B20.

Keywords and phrases: Generalized von Neumann-Jordan constant, the regular octagon space.

This research is supported by the National Natural Science Foundation of P. R. China(11271112; 11201127), Innovation Scientists and Technicians Troop Construction Projects of Henan Province (114200510011).

DEFINITION 1.1. The generalized von Neumann-Jordan constant $C_{NJ}^{(p)}(X)$ is defined by [1]

$$C_{NJ}^{(p)}(X) := \sup \left\{ \frac{\|x+y\|^p + \|x-y\|^p}{2^{p-1}(\|x\|^p + \|y\|^p)} : x, y \in X, (x, y) \neq (0, 0) \right\},$$

where $1 \leq p < \infty$.

It's equivalent to

$$C_{NJ}^{(p)}(X) = \sup \left\{ \frac{\|x+ty\|^p + \|x-ty\|^p}{2^{p-1}(1+t^p)} : x, y \in S_X, 0 \leq t \leq 1 \right\},$$

where $1 \leq p < \infty$.

Now let us collect some properties of this constant (see [1]):

(i) $1 \leq C_{NJ}^{(p)}(X) \leq 2$;

(ii) X is uniformly non-square if and only if $C_{NJ}^{(p)}(X) < 2$;

(iii) Let $r \in (1, 2]$ and $\frac{1}{r} + \frac{1}{r'} = 1$. Then for $X = L_r[0, 1]$,

(1) if $1 < p \leq r$ then $C_{NJ}^{(p)}(X) = 2^{2-p}$ and if $r < p \leq r'$ then $C_{NJ}^{(p)}(X) = 2^{\frac{p}{r}-p+1}$,

(2) if $r' < p < \infty$ then $C_{NJ}^{(p)}(X) = 1$.

In this paper, for any $p > 1$, we obtain the exact values of the generalized von Neumann-Jordan constant $C_{NJ}^{(p)}(X)$ for X being the regular octagon space.

2. Main results

Firstly, in order to get our main result, we need following lemmas.

LEMMA 2.1. Let $p \geq 2.11$. Then

$$(\sqrt{2}+1)^{p-1} + 1 \leq (2\sqrt{2})^{p-1} [1 + (\sqrt{2}-1)^p]. \tag{2.1}$$

Proof. Obviously, (2.1) is equivalent to

$$\frac{(\sqrt{2}+1)^p + 1}{\sqrt{2}+1} + \frac{\sqrt{2}}{\sqrt{2}+1} \leq (2\sqrt{2})^{p-1} \frac{(\sqrt{2}+1)^p + 1}{(\sqrt{2}+1)^p} = \frac{(4-2\sqrt{2})^{p-1}}{\sqrt{2}+1} [(\sqrt{2}+1)^p + 1].$$

So, we only need to prove the following (2.2)

$$[(4-2\sqrt{2})^{p-1} - 1][1 + (\sqrt{2}+1)^p] \geq \sqrt{2}. \tag{2.2}$$

Now by $p \geq 2.11$, we have

$$\begin{aligned} [(4-2\sqrt{2})^{p-1} - 1][1 + (\sqrt{2}+1)^p] &\geq [(4-2\sqrt{2})^{1.11} - 1][1 + (\sqrt{2}+1)^{2.11}] \\ &= 1.426 \dots \geq \sqrt{2}, \end{aligned}$$

as desired. \square

LEMMA 2.2. Let $2 \leq p \leq 2.11$ and $x \in [\sqrt{2}, 1.735]$. Then

$$(x + 1)^{p-1} - (\sqrt{2} - 1)[x - (\sqrt{2} - 1)]^{p-1} < 2^{p-1}[1 + (\sqrt{2} - 1)^p]. \tag{2.3}$$

Proof. Letting $h(x) = (\frac{x+1}{2})^{p-1} - (\sqrt{2} - 1)(\frac{x - (\sqrt{2} - 1)}{2})^{p-1}$, we can easily find the function $h(x)$ is increasing on $[\sqrt{2}, 1.735]$. So by

$$\begin{aligned} h(1.735) &\leq \left(\frac{2.735}{2}\right)^{1.11} - (\sqrt{2} - 1)\left(\frac{2.735 - \sqrt{2}}{2}\right)^{1.11} \\ &= 1.154 \dots < 1.155 \dots = 1 + (\sqrt{2} - 1)^{2.11} \\ &\leq 1 + (\sqrt{2} - 1)^p, \end{aligned}$$

we know that (2.3) is valid. \square

LEMMA 2.3. Let $p \geq 2$ and $t \in [0, 1.735^{-1}]$. Then

$$\frac{(1+t)^{p-1} + (1 - (\sqrt{2} - 1)t)^{p-1}}{2^{p-1}} \leq 1 + (\sqrt{2} - 1)^p. \tag{2.4}$$

Proof. Clearly,

$$\begin{aligned} \frac{(1+t)^{p-1} + (1 - (\sqrt{2} - 1)t)^{p-1}}{2^{p-1}} &\leq \left(\frac{1 + 1.735^{-1}}{2}\right)^{p-1} + \left(\frac{1 - (\sqrt{2} - 1) \times 1.735^{-1}}{2}\right)^{p-1} \\ &\leq 0.79^{p-1} + 0.381^{p-1}. \end{aligned}$$

On the other hand, by $p \geq 2$, we have

$$\begin{aligned} &(\sqrt{2} + 1)^{p-1}(1 - 0.79^{p-1}) - ((\sqrt{2} + 1) \times 0.381)^{p-1} + \sqrt{2} - 1 \\ &\geq (\sqrt{2} + 1) \times 0.21 - (\sqrt{2} + 1) \times 0.381 + \sqrt{2} - 1 \\ &= 0.0013 \dots \geq 0. \end{aligned}$$

Then,

$$1 - 0.79^{p-1} - 0.381^{p-1} + (\sqrt{2} - 1)^p \geq 0,$$

which implies (2.4). \square

LEMMA 2.4. Let $p \geq 2$ and $\tau \in [0, \frac{\sqrt{2}}{2}]$. Then

$$2^{p-1}(1 + \tau^p)(1 + (\sqrt{2} - 1)^p) \geq (1 + \tau)^p + (1 - (\sqrt{2} - 1)\tau)^p. \tag{2.5}$$

Proof. Letting $f(\tau) = 2^{p-1}(1 + \tau^p)(1 + (\sqrt{2} - 1)^p) - (1 + \tau)^p - (1 - (\sqrt{2} - 1)\tau)^p$, we have $f(0) = 2^{p-1}(1 + (\sqrt{2} - 1)^p) - 2 \geq 0$ and

$$\begin{aligned} f\left(\frac{\sqrt{2}}{2}\right) &= \left(\frac{1}{\sqrt{2}}\right)^p \{2^{p-1}(1 + (\sqrt{2})^p)(1 + (\sqrt{2} - 1)^p) - 1 - (\sqrt{2} + 1)^p\} \\ &\geq \left(\frac{1}{\sqrt{2}}\right)^p \{(1 + \sqrt{2})^p(1 + (\sqrt{2} - 1)^p) - 1 - (\sqrt{2} + 1)^p\} = 0. \end{aligned}$$

Hence, to complete the proof of (2.5), it is enough to show that $f(t_0) \geq 0$ for any possible stationary point $t_0 \in (0, \frac{\sqrt{2}}{2})$. Now suppose that $f(\tau)$ have a stationary point $t_0 \in (0, \frac{\sqrt{2}}{2})$, then we have

$$(1 + t_0)^{p-1} = 2^{p-1}t_0^{p-1}(1 + (\sqrt{2} - 1)^p) + (\sqrt{2} - 1)(1 - (\sqrt{2} - 1)t_0)^{p-1}, \tag{2.6}$$

that is,

$$\begin{aligned} & (1 + t_0)^{p-1} + (1 - (\sqrt{2} - 1)t_0)^{p-1} \\ &= 2^{p-1}t_0^{p-1}(1 + (\sqrt{2} - 1)^p) + \sqrt{2}(1 - (\sqrt{2} - 1)t_0)^{p-1}. \end{aligned} \tag{2.7}$$

Case I. $p \geq 2.11$. Applying Lemma 2.1 and through (2.6), (2.7), we have

$$\begin{aligned} f(t_0) &= 2^{p-1}(1 + t_0^p)[1 + (\sqrt{2} - 1)^p] - (1 + t_0)^p - [1 - (\sqrt{2} - 1)t_0]^p \\ &= 2^{p-1}(1 + t_0^p)[1 + (\sqrt{2} - 1)^p] - (1 + t_0)\{2^{p-1}t_0^{p-1}[1 + (\sqrt{2} - 1)^p] \\ &\quad + (\sqrt{2} - 1)[1 - (\sqrt{2} - 1)t_0]^{p-1}\} - [1 - (\sqrt{2} - 1)t_0]^p \\ &= 2^{p-1}[1 + (\sqrt{2} - 1)^p] - 2^{p-1}t_0^{p-1}(1 + (\sqrt{2} - 1)^p) - \sqrt{2}[1 - (\sqrt{2} - 1)t_0]^{p-1} \\ &= 2^{p-1}[1 + (\sqrt{2} - 1)^p] - (1 + t_0)^{p-1} - [1 - (\sqrt{2} - 1)t_0]^{p-1} \\ &\geq 2^{p-1}[1 + (\sqrt{2} - 1)^p] - (1 + \frac{1}{\sqrt{2}})^{p-1} - [1 - (\sqrt{2} - 1)\frac{1}{\sqrt{2}}]^{p-1} \\ &\geq 0 \end{aligned}$$

Case II. $2 \leq p \leq 2.11$. By (2.6),

$$(1 + t_0^{-1})^{p-1} - (\sqrt{2} - 1)(t_0^{-1} - (\sqrt{2} - 1))^{p-1} = 2^{p-1}(1 + (\sqrt{2} - 1)^p).$$

Hence by Lemma 2.2, we get $t_0 \leq 1.735^{-1}$. Therefore by Lemma 2.3 we have

$$f(t_0) = 2^{p-1}(1 + (\sqrt{2} - 1)^p) - (1 + t_0)^{p-1} - (1 - (\sqrt{2} - 1)t_0)^{p-1} \geq 0. \quad \square$$

LEMMA 2.5. Let X be any Banach space, then for any $\alpha, \beta \in [0, 1]$ and any $x_1, x_2, y_1, y_2 \in B_X$ with $x = \alpha x_1 + (1 - \alpha)x_2$, $y = \beta y_1 + (1 - \beta)y_2$, we have

$$\|x + ty\|^p + \|x - ty\|^p \leq \max\{\|x_i + ty_j\|^p + \|x_i - ty_j\|^p : i, j = 1, 2\}.$$

Proof. By Hölder inequality, for any $\alpha, \beta \in [0, 1]$ and any $x_1, x_2, y_1, y_2 \in B_X$ with $x = \alpha x_1 + (1 - \alpha)x_2$, $y = \beta y_1 + (1 - \beta)y_2$, we have

$$\begin{aligned} & \|x + ty\|^p + \|x - ty\|^p \\ &= \|\alpha(x_1 + ty) + (1 - \alpha)(x_2 + ty)\|^p + \|\alpha(x_1 - ty) + (1 - \alpha)(x_2 - ty)\|^p \\ &\leq \alpha\|x_1 + ty\|^p + (1 - \alpha)\|x_2 + ty\|^p + \alpha\|x_1 - ty\|^p + (1 - \alpha)\|x_2 - ty\|^p \\ &= \alpha[\|\beta(x_1 + ty_1) + (1 - \beta)(x_1 + ty_2)\|^p + \|\beta(x_1 - ty_1) + (1 - \beta)(x_1 - ty_2)\|^p] \\ &\quad + (1 - \alpha)[\|\beta(x_2 + ty_1) + (1 - \beta)(x_2 + ty_2)\|^p + \|\beta(x_2 - ty_1) + (1 - \beta)(x_2 - ty_2)\|^p] \\ &\leq \alpha\beta[\|x_1 + ty_1\|^p + \|x_1 - ty_1\|^p] + \alpha(1 - \beta)[\|x_1 + ty_2\|^p + \|x_1 - ty_2\|^p] \\ &\quad + (1 - \alpha)\beta[\|x_2 + ty_1\|^p + \|x_2 - ty_1\|^p] + (1 - \alpha)(1 - \beta)[\|x_2 + ty_2\|^p + \|x_2 - ty_2\|^p] \\ &\leq \max\{\|x_i + ty_j\|^p + \|x_i - ty_j\|^p : i, j = 1, 2\}. \quad \square \end{aligned}$$

THEOREM 2.1. *Let $p \geq 2$ and X be the regular octagon space which is \mathbb{R}^2 endowed with the norm*

$$\|x\| = \max\{|x_1| + (\sqrt{2} - 1)|x_2|, |x_2| + (\sqrt{2} - 1)|x_1|\}.$$

Then

$$C_{NJ}^{(p)}(X) = 1 + (\sqrt{2} - 1)^p. \tag{2.8}$$

Proof. Firstly, we can prove that

$$\begin{aligned} \|x + ty\|^p + \|x - ty\|^p \leq \max\{ & (1 + t)^p + (1 - (\sqrt{2} - 1)t)^p, \\ & (1 + (\sqrt{2} - 1)t)^p, 2(1 + (\sqrt{2} - 1)t)^p \} \end{aligned} \tag{2.9}$$

for any $x, y \in \text{ex}(B_X)$ and every $t \in [0, 1]$.

Since $\text{ex}(B_X) = \{(\pm 1, 0), (0, \pm 1), (\pm \frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}}), (\pm \frac{1}{\sqrt{2}}, -\frac{1}{\sqrt{2}})\}$ and we can change x into $-x$ or y into $-y$. So we may assume that $x, y = (0, 1), (1, 0)$ or $(\pm \frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}})$.

Case I. $x = (1, 0)$.

I_a. If $y = (1, 0)$, then

$$\|x + ty\|^p + \|x - ty\|^p = (1 + t)^p + (1 - t)^p \leq (1 + t)^p + (1 - (\sqrt{2} - 1)t)^p.$$

Hence, (2.9) is valid for this case.

I_b. If $y = (0, 1)$, then

$$\|x + ty\|^p + \|x - ty\|^p = 2(1 + (\sqrt{2} - 1)t)^p.$$

I_c. If $y = (\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}})$, then we can get

$$\|x + ty\|^p + \|x - ty\|^p = (1 + t)^p + (1 - (\sqrt{2} - 1)t)^p$$

is valid for $t \in [0, \frac{1}{\sqrt{2}}]$, and

$$\|x + ty\|^p + \|x - ty\|^p = (1 + (\sqrt{2} - 1)t)^p.$$

is valid for $t \in [\frac{1}{\sqrt{2}}, 1]$. Hence (2.9) is also valid.

Case II. $x = (\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}})$.

II_a. If $y = (1, 0)$ or $y = (0, 1)$, then $\|x + ty\| = 1 + t$ and $\|x - ty\| = \max\{1 - (\sqrt{2} - 1)t, (\sqrt{2} - 1)(1 + t)\}$.

II_b If $y = (\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}})$, then $\|x + ty\| = 1 + t$, and $\|x - ty\| = 1 - t$.

II_c If $y = (-\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}})$, then $\|x + ty\| = \|x - ty\| = 1 + (\sqrt{2} - 1)t$.

Case III. $x = (0, 1)$ or $x = (-\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}})$. These cases can be prove similarly as above. Hence, we can show (2.9) is valid by the case I. Applying Lemma 2.5, we have (2.9) is also valid for any $x, y \in S_X$ and every $t \in [0, 1]$.

Now letting $\psi(t) = \frac{2(1+(\sqrt{2}-1)t)^p}{2^{p-1}(1+t^p)}$, we have

$$\psi'(t) = \frac{2p(1+(\sqrt{2}-1)t)^{p-1}}{2^{p-1}(1+t^p)^2} \{\sqrt{2}-1-t^{p-1}\}.$$

So,

$$\begin{aligned} \max_{t \in [0,1]} \psi(t) &= \psi((\sqrt{2}-1)^{\frac{1}{p-1}}) \\ &= 2^{2-p}(1+(\sqrt{2}-1)^{\frac{p}{p-1}})^{p-1} \\ &\leq 1+(\sqrt{2}-1)^p. \end{aligned}$$

Noting that $(1+(\sqrt{2}-1)^p)(1+t)^p \geq (1+t)^p + (1-(\sqrt{2}-1)t)^p$ if and only if $t \in [\frac{1}{\sqrt{2}}, 1]$, we can get

$$C_{NJ}^{(p)}(X) \leq 1+(\sqrt{2}-1)^p.$$

by Lemma 2.4. Finally, taking $x_0 = (1, 0)$ and $y_0 = (\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}})$, we have

$$C_{NJ}^{(p)}(X) \geq \frac{\|x_0+y_0\|^p + \|x_0-y_0\|^p}{2^p} = 1+(\sqrt{2}-1)^p.$$

This completes the proof of (2.8). \square

Let's turn to consider the case $1 < p \leq 2$. Firstly, we need the following lemma.

LEMMA 2.6. *Let $\alpha \in [0, 1]$, then*

$$\frac{3^\alpha}{2} + \frac{2}{2^\alpha} \geq \frac{5}{2}, \tag{2.10}$$

and

$$(\sqrt{2})^\alpha + (\sqrt{2}-1)^\alpha + (2-\sqrt{2})^\alpha \geq \sqrt{2} + 1. \tag{2.11}$$

Proof. Letting $f(\alpha) = 3^\alpha + 2 - \frac{5}{2} \times 2^\alpha$, we have

$$f'(\alpha) = 2^\alpha \left[\left(\frac{3}{2}\right)^\alpha \ln 3 - \frac{5}{2} \ln 2 \right] \leq 2^\alpha \left[\frac{3}{2} \ln 3 - \frac{5}{2} \ln 2 \right] < 0,$$

and hence $f(\alpha) \geq f(1) = 0$ for $\alpha \in [0, 1]$.

Next, we consider the function $g(x) = x^\alpha + (x-1)^\alpha + (2-x)^\alpha - x$. By applying $g''(x) = \alpha(\alpha-1)[x^{\alpha-2} + (x-1)^{\alpha-2} + (2-x)^{\alpha-2}] \leq 0$ on $(1, 2)$, we get $g(x)$ is a concave function on $[1, 2]$. Therefore by $g(1) = 1$ and (2.10) we have,

$$\frac{g(\sqrt{2})-g(1)}{\sqrt{2}-1} \geq \frac{g(1.5)-g(1)}{1.5-1} = \frac{(\frac{3}{2})^\alpha + \frac{2}{2^\alpha} - \frac{5}{2}}{0.5} \geq 0.$$

This completes the proof of (2.11). \square

By the proof of Theorem 2.1, we have

THEOREM 2.2. *Let $1 < p \leq 2$ and X be the regular octagon space. Then*

$$C_{NJ}^{(p)}(X) = 2^{2-p}(1 + (\sqrt{2} - 1)^{\frac{p}{p-1}})^{p-1}.$$

Proof. Taking $f(t) = \frac{(1+t)^p + (1 - (\sqrt{2}-1)t)^p}{2^{p-1}(1+t)^p}$, from $f'(t_0) = 0$, we can find t_0 must satisfies

$$\frac{(1+t)^{p-1}}{\sqrt{2}-1+t^{p-1}} = \frac{(1 - (\sqrt{2}-1)t)^{p-1}}{1-t^{p-1}}. \tag{2.12}$$

On $[0, \frac{1}{\sqrt{2}}]$, we note the function $\phi(t) =: \frac{(1+t)^{p-1}}{\sqrt{2}-1+t^{p-1}}$ is decreasing from $\sqrt{2} + 1$ to $\frac{(\sqrt{2}+1)^{p-1}}{(\sqrt{2})^{p-1}(\sqrt{2}-1)+1}$, and the function $\varphi(t) =: \frac{(1 - (\sqrt{2}-1)t)^{p-1}}{1-t^{p-1}}$ is increasing from 1 to $\frac{1}{(\sqrt{2})^{p-1}-1}$ (easy to see $\frac{(\sqrt{2}+1)^{p-1}}{(\sqrt{2})^{p-1}(\sqrt{2}-1)+1} < \frac{1}{(\sqrt{2})^{p-1}-1}$). So the solution of (2.12) is unique. Now by $(\sqrt{2} + 1)^{\frac{1}{p-1}} + \sqrt{2} \geq 2 + \sqrt{2}$ and (2.11) for $\alpha = p - 1$, we have

$$\begin{aligned} & \left(1 - \frac{2}{(\sqrt{2} + 1)^{\frac{1}{p-1}} + \sqrt{2}}\right)^{p-1} \frac{1 + (\sqrt{2})^{p-1}}{\sqrt{2} + 1 - (\sqrt{2})^{p-1}} \\ & \geq \left(1 - \frac{2}{2 + \sqrt{2}}\right)^{p-1} \frac{1 + (\sqrt{2})^{p-1}}{\sqrt{2} + 1 - (\sqrt{2})^{p-1}} \\ & = \frac{(\sqrt{2} - 1)^{p-1} + (2 - \sqrt{2})^{p-1}}{\sqrt{2} + 1 - (\sqrt{2})^{p-1}} \\ & \geq 1. \end{aligned}$$

Hence,

$$\begin{aligned} \phi(\sqrt{2}(\sqrt{2} - 1)^{\frac{1}{p-1}}) &= \frac{(1 + \sqrt{2}(\sqrt{2} - 1)^{\frac{1}{p-1}})^{p-1}}{\sqrt{2} - 1 + (\sqrt{2})^{p-1}(\sqrt{2} - 1)} \\ &\leq \frac{[1 - \sqrt{2}(\sqrt{2} - 1)^{\frac{p}{p-1}}]^{p-1}}{1 - (\sqrt{2})^{p-1}(\sqrt{2} - 1)} = \varphi(\sqrt{2}(\sqrt{2} - 1)^{\frac{1}{p-1}}). \end{aligned}$$

So we must have $t_0 \leq \sqrt{2}(\sqrt{2} - 1)^{\frac{1}{p-1}}$ by $\phi(0) > \varphi(0)$. And also

$$\begin{aligned} \max_{t \in [0, \frac{1}{\sqrt{2}}]} f(t) &= f(t_0) = \frac{(1+t_0)^{p-1} + (1 - (\sqrt{2}-1)t_0)^{p-1}}{2^{p-1}} \\ &\leq 2^{2-p} \left[1 + (\sqrt{2} - 1) \frac{t_0}{\sqrt{2}}\right]^{p-1} \\ &\leq 2^{2-p} (1 + (\sqrt{2} - 1)^{\frac{p}{p-1}})^{p-1}. \end{aligned}$$

Finally, for the function $\psi(t)$ which is in the proof of Theorem 2.1, we also have

$$\max_{t \in [0,1]} \psi(t) = 2^{2-p} (1 + (\sqrt{2} - 1)^{\frac{p}{p-1}})^{p-1}.$$

To complete the proof, we only need to note for $1 < p \leq 2$

$$[1 + (\sqrt{2} - 1)^p]^{\frac{1}{p-1}} \leq 2^{\frac{2-p}{p-1}} [1 + (\sqrt{2} - 1)^{\frac{p}{p-1}}]. \quad \square$$

REFERENCES

- [1] Y. CUI, W. HUANG, *Generalized von Neumann-Jordan constant and its relationship to the fixed point property*, Fixed Point Theory and Applications **40**, (2015), 1–11.
- [2] J. A. CLARKSON, *The von Neumann-Jordan constant for the Lebesgue space*, Ann. of Math. **38**, (1937), 114–115.
- [3] J. ALONSO, E. LLORENS-FUSTER, *Geometric mean and triangles inscribed in a semicircle in Banach spaces*, J. Math. Anal. Appl. **340**, (2008), 1271–1283.
- [4] J. ALONSO, P. E. MARTIN, P. L. PAPINI, *Wheeling around von Neumann-Jordan constant in Banach spaces*, Studia Math. **188**, 2 (2008), 135–150.
- [5] M. KATO, L. MALIGRANDA, Y. TAKAHASHI, *On James and Jordan-von Neumann constants and the normal structure coefficient of Banach spaces*, J. Math. Anal. Appl. **144**, (2001), 275–295.
- [6] M. KATO, Y. TAKAHASHI, *On the von Neumann-Jordan constant for Banach spaces*, J. Inequal. Appl. **2**, 1 (1998), 302–306.
- [7] E. M. MACUÑÁN-NAVARRO, *Banach spaces properties sufficient for normal structure*, J. Math. Anal. Appl. **337**, (2008), 197–218.
- [8] S. DHOMPONGSA, P. PIRASANGJUN, S. SÆJUNG, *On a generalized Jordan-von Neumann constants and uniform normal structure*, Bull. Austral. Math. Soc. **67**, (2003), 225–240.
- [9] C. YANG, F. WANG, *O On a new geometric constant related to the von Neumann-Jordan constant*, J. Math. Anal. Appl. **324**, 1 (2006), 555–565.
- [10] C. YANG, *A note of Jordan-von Neumann constant and James constant*, J. Math. Anal. Appl. **398**, 2 (2009), 92–102.
- [11] C. YANG, *Jordan-von Neumann constant for Banaś-Frączek space*, Banach J. Math. Anal. **8**, 2 (2014), 185–192.

(Received April 16, 2016)

Changsen Yang
 College of Mathematics and Information Science
 Henan Normal University
 Henan, Xixiang 453007, P. R. China
 e-mail: yangchangsen0991@sina.com

Tianyu Wang
 College of Mathematics and Information Science
 Henan Normal University
 Henan, Xixiang 453007, P. R. China
 e-mail: wangtian12527@126.com